Balancing Worksheet #1

Please note that several of these equations are already balanced as written.

W10k wiNe

Hy, + O, — HzO

Sg + Oz — SOz

HgO — Hg + (o))

Zn + HC1 — ZnCl, + H;

Na + HO — NMaOH + H-

CipH1e + Cls — C + HC1

Si:Hs —+ (o2} — S105 + H-O

Fe + Oz — Fe;03

C7HgO2 + Q2 — COz + Hz20

FeS, + Osr — Fe,05 + SC»

Fe,0s5 + H> — Fe + H-C

K + BPro — KBr

CoH, + (o2 — CO, + H,O

H>02 — H>0 + O2

C-Hae + Q2 — CO2 + H-0

S10; + HE  — SiF, + H,0O

KC10O3 — KC1 + (o))

KC10O3 — KC1O, + KC1

P4O10 + H>O — HzPOy4

Sb + Oz — S40e

CsHs + Oz — CO2 + H20

Fez03 + CcO — Fe + COs

PCls + H-O — HC1 + HiPO,4

H:zS + Clsz — Sg + HC1

Fe + H>O — Fes04 + H2>

N, + Hs  — NH+

N2 + Oz — NzO

CO2 + HO — CeH1206 + O2

sSicl, + HO — H,810, + HC1

HaPOy — HyP204 + H2O

COz + NH: — OC (NHz) 2 + H-0

A1 (OH) 5 + H,SO, — A1, (S04) 3 + H,O
Fes (S04) 2 + KOH — K250, + Fe (OH) 3
HsS04 + HT — H>S + To + H,O
Al + FeO — 21,03 + Fe

NazCOa + HC1 — NaCl + H>0 +
Py + Oz — P20s5

K-O + H-O — KOH

Al + O> — Al,05

Na>0z + H-O — NaOH + 02

C + H,O — coO + Ho,

H3AsO4 — As20s + H>0

Al (S04)a + Ca(CH)z - A1(OH)a2 + CasSOy
FeCla + NH4OH — Fe (OCH) 2 + NH.C1
Casz (PC4) 2 + o Si0s — P40q0 + CasSiOs
M-0s + H-O — HNO=

Al + HC1 — A1C1S + H>

CQOz



